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. An economy consists of two individuals, A and B. A’s utility is U, and his income is 7,. B’s utility is U/, and his

1 1

income is /,. Suppose it is the case that I, =10(IA)5 and U, =10(IB)5 +0.8U,.

(1) Define the Pareto efficient redistribution, and explain why the concept is relevant in this situation. (5%)

(2) Given that A and B both have incomes of $100, if $36 is taken away from B to A, what will happen to social
welfare? (assume additive social welfare function) (7%)

(3) From the rationales of simple utilitarianism and Pareto efficient redistribution, does this redistribution worth to be
implemented? (3%)

. While the use of some good or service is subject to continually decreasing average costs, the government production

may be appropriate. Under such circumstance, how should government set the price of good or service? (20%)

. A government considers a bill that will allow recipients of unemployment insurance to qualify for medical aid, without

being subject to means testing. Sketch the budget line for someone receiving unemployment insurance benefit and

medical aid, assuming that the person would not qualify for medical aid once employed. (5%)

. What are the progressive and regressive taxation? (5%) How to measure the tax progressiveness? (5%)




